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. GAMPLE EXAMINATION 1 43

- a.t each location. Summary calculations give T = 8.4, s, = 2.1, T = 14.2,
| sy = 3.8, and r = .86. What is the slope of the least squares regression line
of number of service calls on number of copiers?

AR oy B P e

10. In the setting ot the previous problem, about what percent of the vari-
ation in number of service calls is explained by the linear relation between
number of service calls and number of machines?

— ——

11. A machine is designed to fill 16 ounce bottles of shampoo. When the
machine is in control, the the mean amount poured into the bottles is 16.05
ounces with a standard deviation of .05 ounces. To make a control chart
for this machine you would put the control limits at ‘
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12. A standardized test designed to measure math anxiety has a mean of
100 and a standard deviation of 10 in the population of first year college
students. Which of the following observations would you suspect is an
outlier?
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